N = 0l & At & M A

20199 &= =0 & LA ~ZSIMNS A

SN SEBAYL
N

M SEXY MM 2a
ool sl T4 (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A ESAHAE A 4,979,603 1,460,040 3,519,563
SEXSE MAD|BH 235 17,320 20,320 A 3,000
g8 =4 17,320 20,320 A 3,000
OlsSolE=XelAld XA 17,320 20,320 A 3,000
201 2Et2Hy| 17,320 9,320 8,000
01 AP 2t 2] H| 3,000 5,000 A 2,000
O0tSdta=XelAE S XMl (20 A)
1,500,000& = 23] 3,000
02 22| 14,320 4,320 10,000
OlISsdtE=XelAld elgHY =2
40,0008 * 1HA + 128 480
OlISdtE=XelAld HI|22
160,000 = 2o & = 12€ 3,840
OlISsdtx=xeld SXNEE
5,000,000& * 2002 10,000
HE4+E 28 40,800 39,720 1,080
>=&EH A 40,800 39,720 1,080
HELSEHZAIE 22| 40,800 39,720 1,080
201 B9 14,800 11,800 3,000
02 2224 H| 14,800 7,800 7,000
OHIELIYMZAIE HIIR2
400,0008 * 128 4,800
OHIELLIY MZAIE |A22 10,000
206 M = dl 2,000 3,920 A 1,920
01 T2l 2,000 3,920 1,920
O MEISX X222 2,000
oXd =5 ¢ 400,000& * 5= 2,000
401 AlEHIZ £ 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
Oelxzs =248 &A% 20,000
405 XH&HF S HI 4,000 4,000 0
01 JHMY 2 EF S H 4,000 4,000 0
OMEIES A SXZE BEEANR(AAD)P
4,000,000 = 1CH 4,000
MEES=S(SESHAAMHA) 4,921,483 1,400,000 3,521,483
WEAHAN XK= 4,921,483 1,400,000 3,521,483
LHEAHH K= 4,921,483 1,400,000 3,521,483
701 JIEIS HSHEE 2 4,921,483 1,400,000 3,521,483
01 JIEIS HE =2 4,921,483 1,400,000 3,521,483
SESAANG A 2H 700,000
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